
Тренировочный вариант № 432(32) 

 

ОТВЕТЫ НА ЧАСТЬ 1 

1.1 34 

1.2 16 

1.3 18 

1.4 0,9 

1.5 176 

1.6 46 

2.1 74 

2.2 18 

2.3 25 

2.4 342 

2.5 1000 

2.6 135 

3.1 0,98 

3.2 0,5 

3.3 0,4 

3.4 0,32 

3.5 0,375 

3.6 0,16 

4.1 0,84 

4.2 0,08 

4.3 3 

4.4 0,059 

4.5 0,1 

4.6 0,271 

5.1 –3 

5.2 8 

5.3 2 

5.4 1,5 

5.5 –40 

5.6 18 

6.1 6 

6.2 3 

6.3 –0,4 

6.4 4 

6.5 14 

6.6 6 



7.1 –0,8 

7.2 5 

7.3 20 

7.4 3 

7.5 4 

7.6 7 

8.1 20 

8.2 10 

8.3 4 

8.4 1,4 

8.5 4 

8.6 6 

9.1 18 

9.2 43 

9.3 63 

9.4 9 

9.5 3 

9.6 12 

10.1 11 

10.2 –0,1 

10.3 8 

10.4 16 

10.5 4 

10.6 20 

11.1 139 

11.2 –6 

11.3 –4 

11.4 –0,2 

11.5 11 

11.6 7 
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14.6    27;2,33;0   
15.1 1300 тыс.руб. 

15.2 5 

15.3 21 

15.4 400000 руб. 

15.5 1080 тыс.руб. 

15.6 399200 руб. 
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17.6  10;2  
18.1 а) да; б) нет; в) 68574 

18.2 а) да; б) нет; в) 478 

18.3 а) да; б) нет; в) 4 

18.4 а) да; б) нет; в) 9 

18.5 а) да; б) да; в) 4 

18.6 а) да; б) 41; в) 3;6 
 


